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MATHCMATICS By Pradeep Sir

Q. 1) Find the value of a to make 6234a6 divisible by 9.
a BT HTH JTd DI d1fd 6234a6, 9 gRT fAuTST 811
(a) 8 T

(b) 7

(c) 10 é\'wé
Al ta= 9
3+a =9

e




MATHCMATICS By Pradeep Sir

Q. 2) What is the smallest number which can be added to

9454351626 so that it becomes divisible by 11?
gg OId! A BIdt 4B o19-4 ¢ 5 9454351626 # S

W U H@ 11 § faursa gk

(a) 1

AysSY3S )4 26
(d) 4 4 vt T




MATHEMATICS By Pradeep Sir

Q. 3) Ramlal marks up his goods by 40% and gives a

CP M/RP SP discount of 10%. What is his net profit percentage?
(a) 24%
1o 140 128

(c) 28%
(d) 32%




MATHEMATICS By Pradeep Sir

Q. 4) A shop provides flat 50% discount on one shirt,

DI —» SD- while another shop provides two successive discounts of
2 30% and 30%. If the difference in the bill is Rs. 43, then
> A+B-AK find the cost of the shirt.
= o UP 3P UP HHIW W T 50% B! Je USH Il o,
2 Zp R3S mfwﬁgglaﬂso%aﬁvso%ﬁa’lmwm
SO+ SO - T gfe fae &1 3R 3. 43 8, @ e &1 go9 914

(a) Rs. 3580
Go -9 =S/ (b)Rs.3850

> >4

L— Y4300
l
5 w3z A




MATHEMATICS By Pradeep Sir

Q. 5) A shopkeeper bought 20 chairs for Rs. 1,000. On
selling them he had a gain equal to the selling price of
four chairs. What is the selling price of each chair?

U PSR A %. 18,000 H 20 gl @il 37 da9 W
I8 IR PRI & Ay Tog & aR1aR 1Y 3411 TldD Hul

¥ , &1 fag g |1 82
4 —:
'é L’ N.) QDD 3 ) K W

() Rs. 1250
| — (d) Rs. 1175
935 ]
290, o 79°x2©
e \2=_ >~ ~




MATHCMATICS By Dndens
y Sir

Q. 6) R wants ®
R = Jop x 3PP In his acc::ntf:hdeeg::: Ris\;a.»8 oiooo n the bank for & yeer
but charges Rs. 3,000 asg ° 2%.' simple annual interest.
8# /¥ ’P X)) What would be his perce tProcess.,,.g fee for the account
T Ly s
20 Eﬁﬂﬁﬁu%aﬁﬁé\*%m&mm%lm
o 3 2.8 ¥ TR Yo & T F oS 29T &, afH
g = @Ta # IUPT AT Ufawra ¥. 3,000 FT Yeb ol 8
(a) 8.75% FETm T '
(b) 9%
PG -
) &&/ Ptf
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Q. 7) If 28:98:98: y, find the value of y.
gfe 28: 98:98: y%, aﬁymmmml
E)VEEE

(b) 338

l\// (c) 348




MATHCMATICS By Pradeep Sir

Q. 8) College P has 180 students scoring average marks
of 88 and college Q has 320 students scoring average
marks of 72. Find the average marks of both the colleges

ether. . e
ag’%at PH 180 BTH & o1d 3iP! &1 3T 88 & R HIaw
gi 32051':'% aiaffaﬂaha;n%la’ra’fasﬁa’f%




MATHCMATICS By Pradeep Sir

Q. 9) A is 40% more efficient than B. How much time will
they take to work together to complete a job, which A

A . B alone could have done in 31 days
= 33 4o S %aﬁa:}éémmﬂgn
’ Hbdl a®Y 39 BH
i S .
7 5
e . days
Y2\ (c) 215/12 days
= 'E WY 3”‘1 (d) 517/32 days
4
=) 0?’/
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Q. 10) A can do a piece of work in 8 days, while B can do
it in 18 days. In how many days will the work be
completed if they both work on alternate days starting

with B?
A foft o1 &t 8 e A &% 9ar 2, wafe B I o9 A

Ik ﬁﬁmgéﬁmm% aaﬁmﬁ

(b) 12-
(d) 1o§
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—
Q. 11) Ajeet works 4 times as fast as Sohan. If Sohan can
A S complete a work in 20 days independently, the number
I’—ﬂ of days in which Ajeet and Sohan can together finish the
£y | ')ﬁ work is: .
= , 3feitd |ig= |/ 4 7T dolt § S0 Seal g1 i wigw w@ad

U q U o4 i 20 37 & @1 ST GFar 2, af 3w iR
W%mﬁ%ﬁ?ﬂwmm%‘?
(@) 2

90
2P

= .
3
%

=

(d)5




MATHEMATICS By Pradeep Sir

Q. 13) A car travels the first 160 km at a speed of 64
km/h and the next 160 km at a speed of 80 km/hr What
is the average speed for the first 320 km of the tour?

- o} XXX UP B USS 160 km B 28 64 km/h 31 TT6 @ 99 S &
A\' 5\“2'4 3R 3T 160 km PI ggkwhrﬁmﬁaumi’h
2] OTAT & UEd 320 km B 3T AT T 22

I -
! L

}0

1(,(:\'4 X (d) 75.32 km/hr 40

g az/)‘f‘i/ﬂ o \1:0%4
ho ~F 1| k""’l 3/4'




MATHCMATICS By Pradeep Sir

Q. 14) If (a-b) = 1, then waht is the value of (a*-b?)?

af2 (a-b) = 1 &, a1 (a*-b*) BT HIH FTd DT}

(a) a’ + ab + b?

(b) (a + b)? + 3ab
(c) a’- ab + b?
(d) a? + 2ab + b?
(a3-02 = (a-)(a*+b>+ob)
\

T




MATHEMATICS By Pradeep Sir

214- :;-:z = | & Q. 16) lf(x2+x—1z)=18, and x > 0, what is the value of
X+L=[18+2:12 g

>d s uﬁ(xz-l-xiz):186ﬁ7x>0?,ﬁ(x3+x%)mmm

=  @m
9 (a) 36V5
;1;4';%3‘-" ("?B') —31"”? (b) 405
_oTs (c) 46V/5
ansfs
ho(s-¢T5

- U5 A7
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Q.17)If8cotA =7, findsinA

afe 8cot 4 = 7 €, @t sin A T PIfeC

(a) 7/15

Qeoth”e

(©) 7/8 - 1
A= ,
o Co*R ™ @

£
P




MATHEMATICS By Pradeep Sir
O+b _ Qb _ hob a9 simplify 500 - S
T st T
v — (a) 4tant - sint =) C.O.\z{-
e
Yy ) =5t /F5mt c) tant — sint
v - (d) tant + sint
) I A 51 L
0
{ — o1 /
X Sl‘ ’(bt
| At - |
ot Tt
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4 Q. 19) PQR is a triangle right angled at Q and PQ : QR =
2 S 3: 4. What is the value of sin P_+ sin Q + sin R?
Iy PQR, Q W & wHSIU FAYST & 3R PQ: QR = 3: 4
o 11 K %IsinP+sinQ+sin R BT {1 T 12
(a) 4/5
ot 4 n & OFE
iap 57"
> d) 2/5
Moyl < P ©
- . 2 X
2 S
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Q. 20) In the given figure, PQ is a chord passing through
the centre 'O’ of the circle. Calculate 2PQS. If 2 QRS=110

zﬁn'{anqrf%ff PQ 3T & &g '0' | TR arell UH oiiaT g
£PQS DI mﬁ%ﬂ
(a) 40°

60°
(c) 20° |
1) SU°




MATHCMATICS By Pradeep Sir

Q. 21) Which of the following statements is FALSE?

Sy@“ AAPH-ATHYA A ——
wo triangles are congruent if the size and shape of
the triangles may or may not be equal./ al ﬁ'{-ﬁl Ha%l'ﬂ'ﬂ

213 & af Byt 3 amamg ofR smpfa wwr= &1 oft Wt @

A Ga? q‘é’f Wt
(b) SAS an SSS are both conditions of congruel;g of
JRIG

riangles. / SAS 3R sss g1 Brysl #1 wafmewar
| ot

(c) If two angles and the included side of one triangle is
equal to two angles and the included side of other

triangle, then the trianﬁles are congruent. / gfe ts ﬁ'ﬂﬁ

& 3 BT R I & &l I
eh?awﬁwﬁ:f%mgm%m?%%%l

(d) If two triangles are congruent, then one of them can

be supeﬁg?}s%naﬂlq%og\f%gan le./ é‘_\? al

fFareTasar gl




MATHECMATICS By Pradeep Sir

Q. 24) The given pie-chart shows the marks scored by a
student in different skills in an examination
mathematical ability, verbal ability reasoning, coding and
puzzle solving. The values are given in degrees. Answer
the following question. If total marks were 3000, then
what would be the marks in resoning? —

fear mar urg 91 ve gdtan # fafis sreret nfordta e,
Hife® &wdr, adufed, Peaw AR gdl g Bl - d
BT R UTW P! &1 euiar & 719 foht & fRe e g1
gﬁf@awwm%mﬁﬁaﬁsmo ﬁ,a’rggmﬁa
35 ¥ 3@ a1 g E— )

(a) 375

%;4,&* ﬁ’f 28
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heat imports (in the Q. 25) Study the given graph carefully and answer the
%‘Qestlon that follows.

T UTE &1 WG JgT Bifog R Fi e 7
Uy & IR Giferg |
- l l The decrease in imports in 1971 was what percentage of

the im orts in 197 0 (rounded off to the nearest integer)?

1971 1970 ® 3maTd &1 fhaar ufawa 4
\BETLL t{oﬂas a®)?

(a) 54%

(b) 56%

(c) 52%

(d) 53%




